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COMMERCE
( Honours Elective )

Paper: COM-HE-6056
( Industr.lal Relctions and, Lahour Laws )

F\uII Marks : 8O

Time : Three hours
The tlgvres tn thc mtrgln tndtcate

tall nurks for tlu questlons.
Ansuer eltler in English or in Assamese.

1. Answer the following as directed :

lxl0=lO
\e-{s fifi ssr<|{{ frc'i"tq-fiREw fur :
(a) How many weeks of prior statutory

notice is required to be given to employei
or workmen before a strike or lockout ?

. (Cttoose tte correct option)qft {sqrcq-{qFicsfr r-Tlrr<Sr4kf rrfr iT{q+
c{8 cgR< qfls}fi ffi<a qwft fr-sffir
E(TEftr? @a}wcbtitaBfreil)
0 T\r,o weeks @wr<)
(n) Three weeks (GfiCgf<l

Contd.



/iiij Five weeks ({tb cgf5)

{iul Six weeks (qcgt5)
(b) In which year was All India Trade Union

Congress (AITUC) formed ?
(Ctnose tle corred anstuer)

q-ffir qfr$s<tflq (AITUc) cotq u-ds {fis

(r) 1919 ()b)bFds)

@ 1920 ()blo D-{s)

(iit) l92l (:bq) tds)

ftu) 1922 (5b\lE;ls)

(c) Which of the following is not a
characteristic of trade union ?

(Clnose tle aned a ruater)
s-d{ f$Fltl qfr'$caR ?<fftr4$?

(sh'Wt4tFbfuea)

(il VoluntaryAssociation(6tq{{$IQt)

(u) Common coal (fl@ETFi1

/iirl Individual Actions (<Ifuqsoltr€H)

(iul Intermediary (wrpfoR)
(d) Which of the following dispute settlers

cannot make a binding decision ?
(Clnose the @ffed. answer)
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sE< rn6t fi{q ffi-q RIqqTd-{' frh-tg
4{ Cil:m{? (eaWt46bfrvqt)

0 Arbitrator (l{lEsft<I&)
@ Adjudicator (R6f{'$)

/iiri Industrial Tribunal Member
Grflft-$FDt-{Er{cqci)

liul Conciliator (fugFFlfl)
(e) Where is International Labour

Organisation (ILO) headquarters
located ?
qts{ft qfr$ qirfh (rLo}< {?li $rf;w os
q-<fur

A Who was the founder of Bombay Mill
Hands Association ?

(Choose tte @rrect ansuer)
'r<tm fra Cqsq qdR{-d'< qfuh"ro c+raqrk,r (sa EwAa?F Efrs<r)

(, V. V. Giri (&.G.fiF)
(ii) Bal Gangadhar Tilak

(<IE rf(ril<r<F{s)

/rr, N. M. Lokhande (en et. ad.frtfcs)

{iul None of the above (s"f<< ,{Els i-q{)
(g) Which of the following has adopted the

principle of fair wages in India ?
(Choose the corect answer)
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, ffidRe csFdft<sFwalnilqR<ftfr aR't

5fr6qr @affitat6Vfrett)
(, The Minimum Wages Act

6-***fRffi)
(it The Equal Remuneration Act

tqrlq "fiRi{froqlF)
(iii) The Wage Boards

<a*ffi mCq{O
(iu) AIl of the above

(s"r<< q-+rEtr+€t)

"Equal pay for equal work is applicable
to both men and women."

(Write True or False)

"{+{ qK {Rdf E-srtK cvqs r5tF oltr< <f(<

qnlq q<Tql efc{MJ a! l' (ri6t '/tfu fr"il)
"Trade unions are temporary
combinations." (State True or False)

"qfro xE'c<F ?qcs q$ft fr-fi ffi-q r"

oia aftwfr<rD

Who among the following advocated the
compulsory collective bargaining ?

(Choose the correct answer)
s4{ csl-{q-{ <I&z-s {l{]9l{4s {]Tk$ F{qn
eftrm catt{-set oRkr
(t) v. V. Giri (&.&.fdR)

@

(,

a)
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(it) G. L. Nanda (G. qd.i'fl)
(iii) Ja$ivan Ram (qatfrqq<U)

/iul Khandubhai Desai ("ilEeR Cq-{R)

2. Answer the following in brief : 2x5= 10

p-qv furm<<u*+Vsfiat:
(a) Define industrial dispute.

WrR-{q< qs@f fi$ |

(b) Why do employees join trade unions ?

$t'ulRq-scE qfr-s q'i\s fr{ cslriqn o(< ?

(c) Define industriai relations.

&t1fi$q-"F6<qsl firt I

d Differentiate between strike and lockout.
\

q:fqi qr+ E4K{< nfqs "fi?fq cq-{s{t r

. (e) What is adjudication ?

fr6fio4fuagaftr

3. Write short answer of the following '. (ang

four) 5x4=2O

vqo fr-+n<N< u$+ Es< fi{ z (furqt 6tffit)

(a) Expiain the role of employer and trade
unton in maintaining smooth industrial
relations.

ry Wtn q*t6 <sR<r<rc fir$t|o6f qr<.

qfr-sxr<VR'$.l{Jl"I'l Gl I
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(b) Discuss in brief the major problems
faced by trade unions in India.
sf$os qfra c(T(<rr< rq?nq c{-{| {"!
crcilc-{s snas qfFTID-dl F{l I

(c) Why is collective bargaining considered
to be the best approach to the
maintenance of industrial harmony ?
Wtr$ qtfte <s€ilI-{Flg qHh q<q|ls frr
qder qqtRflr< ffiqlqtz

(d) Write a note on labour welfare facilities
in Indian factory.
E1.{s< $F"tlTE{w efr-$ @.iq< rFTR{q{€
€'F{s ,.{a 6m firn r

(e) What are the pre-requisites of successful
grievance handling procedure ?
qrdt sq{ qqfrfi.'tfr efr$< qt+.u+orc<T<

ftftr
A Discuss the role of ILO in industrial

relations.
Wrf$ qtftG <wfs r1.o< V-frq qrflF-{f
<xil |

4. Answ_er ang four of the following: 10x4=40
sq\5 fi$r$<< frrctrq Ftm<Ew fr'<r :
(t) Explain various approaches to industrial

relations.
ETw,'IFrccaftC< frCa rc<rqcp<Tfq1G{r 

I
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(iil Briefly explain the statutory machinery
for settlement of industrial dispute in
India.

vr<ss wi--$ R-{q fio4R< Ritlh <r<Efq{
5{?s{rl{tl cl I

/iiii Explain the working of 'Joint
Management Councils'. Why could not
they be successful ? 5+5=10

ffiq <irEl"lll qR<R< sF+fq <lt?[T G] r ft{
6sdrEIcsq"sE6 q<l qRr

/iu/ Discuss various measures to strengthen
the trade union movement in India.
What new role trade union need to play
for their survival and popularity ?

6+4=10

sRss qfr-{ciq< q15q1-q{ {fu{|fi F{FI [s-ss

ftfua qftsaq{< Rrtl qrflm Fltqfrs
c(qr{fr< FdrEl€ qfuv qFF qnf*{-sK sF(6t

fra-.lqvRo 4qaafuaft-q7
(u) Define indiscipline in the context of

employer-employee relations. Discuss
the causes of industrial indiscipline.

4+6=10

frcrrrlo6l-offiq q-'r6 arqs Tsrq|fu
q (B.tFs €l r fta lrmtrsf< sR6lc<K qlffilFl
<=tl I

4 (Scn-6/cBcS) HE 5 (lRtL)/C 7 Contd.



(ui) What are various provisions of safety of
workers under'the Factories Act, 1948 ?
Explain.

sf{{Fil qb' )b8t'-3 qfras qfr* 
'_qq<

and importance
management
Discuss.

{FK {Friq <I{?lq-{F{

of
in

fr -{"M< R&a R{iq{{ fr fr t {Flit Gl t

(uii) Wt,at are the needs
human resource
industrial relation ?

ffi-s a-q6a 6nqg
ar*Mftsq qFr' e+vc{sft fr ? qfcitu;rt Rl I

(uiii) Explarn the following provisions under
the Industrial Employment (Standing
Orders) Act, 1946: 5+5=10

brnl|trs $trcREF (qtft wc"f) qb, >tev<
qftqs EdE fr$ RffilTt<it il €f :

(a) Penalties and Procedures

(qFrntq+qa&)
(b) Powers to Make Rules

(Fm aqw<+rst)
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